
YFM4504075 Vinschfäste Bak 450 18->

Artikelnummer Namn Antal

1 YFM4504020 V-Fäste Bak 1 st
2 Låsspak M8x25 1 st
3 M8x20 Insex Försänkt 10,9 2 st
4 M8x16 Torx kusk. Svart 2 st
5 Låsmutter M8 6 st
6 M8x40 Insex försänkt 10,9 2 st
7 YFM4504025 Fästplåt 1 st
8 YFM99041 Dekal transportlåda bak 1 st
9 YFM10074 Kabelsats omk. Vinsch 1 st
10 YFM1002375 Vinschlåda 1 st

YFM1002354 Rulle kort 2 st
YFM1002364 Rulle Lång 2 st
YFM1002370 M12x70 2 st
YFM1002380 M12x80 INC 2 st

(11) YFM1002325 Sprint    1 st (Ingår i YFM1002375)
(12) YFM2006533 R-Sprint 3,5mm    1 st (Ingår i YFM1002375)
13 YFM10075 Kablage 450 1 st

3
2

14 5 6

7
8

9

10

(11)

(12)

13


	Tabell1

